VIBRADOR DE RODILLOS

Ref.explod 91219 02-07 19/02/2016 Product. 60935, 60936, 60937

rt-list ES EN DE FR

1 5307 1 TAPA EMPUNADURA VR-220 HANDLE COVER VR-220 HANDLE COVER VR-220 HANDLE COVER VR-220

2 5301 1 INTERRUPTOR 2 VELOCID.VR-220 SWITCH 2 SPEED VR-220 SWITCH 2 SPEED VR-220 SWITCH 2 SPEED VR-220

4 5300 1 EMPURADURA CON TAPA VR-220 HANDLE WITH COVER VR-220 HANDLE WITH COVER VR-220 HANDLE WITH COVER VR-220

5 5471 1 CONECTOR CABLE MANILLAR VR-220 CONNECTOR CABLE MANILLAR VR-220 CONECTOR CABLE MANILLAR VR-220 CONECTOR CABLE MANILLAR VR-220
6 5466 1 MANILLAR HORQUILLA VR-220 FOLDED HANDLE VR-220 FOLDED HANDLE VR-220 FOLDED HANDLE VR-220

7 5462 1 ENCHUFE CABLE VR-220 PLUG WIRE VR-220 PLUG WIRE VR-220 PLUG WIRE VR-220

8 5480 1 CJ.FIJACION MANILLAR VR-220 HANDLE LOCKER VR-220 CJ.FIJACION MANILLAR VR-220 CJ.FIJACION MANILLAR VR-220

9 50116 1 MANGUERA 3X1,5 CABLE 3X1,5 MANGUERA 3X1,5 MANGUERA 3X1,5

10 50116 1 MANGUERA 3X1,5 CABLE 3X1,5 MANGUERA 3X1,5 MANGUERA 3X1,5

11 5470 1 CONECTOR UNION CABLES VR-220 CONNECTOR UNION CABLES VR-220 CONECTOR UNION CABLES VR-220 CONECTOR UNION CABLES VR-220
12 5465 1 CUBIERTA MOTOR VR-220 MOTOR COVER VR-220 MOTOR COVER VR-220 MOTOR COVER VR-220

13 5306 1 MOTOR B180 2 VEL.VR-220 MOTOR B180 2 VEL.VR-220 MOTOR B180 2 VEL.VR-220 MOTOR B180 2 VEL.VR-220

14 5402 1 VOLANTE EXCEN.MOTOR VR-220 MOTOR WHEEL VR-220 MOTOR WHEEL VR-220 MOTOR WHEEL VR-220

15 5305 1 PLACA SOP.MOTOR VR-220 MOTOR SUPPORT PLATE VR-220 MOTOR SUPPORT PLATE VR-220 MOTOR SUPPORT PLATE VR-220
16 5304 2 BRIDA SUP.RODILLOS VR-220 UPPER ROLLER SUBJECTION VR-220 UPPER ROLLER SUBJECTION VR-220 BRIDA SUP.RODILLOS VR-220

18 5430 1 MANETA VR-220 HANDLE VR-220 HANDLE VR-220 HANDLE VR-220

19 5303 2 BRIDA INF.RODILLOS VR-220 LOWER ROLLER SUBJECTION VR-220 LOWER ROLLER SUBJECTION VR-220 BRIDA INF.RODILLOS VR-220

20 5460 10 RODILLO NYLON VR-220 NYLON ROLLER VR-220 Rolle Nylon VR-220 RODILLO NYLON VR-220

22 5374 2 AMORTIGUADOR VR-220 SHOCK ABSORVER VR-220 SHOCK ABSORVER VR-220 AMORTIGUADOR VR-220

29 5482 2 TORN 6X15 VR-220 SCREW 6X15 VR-220 TORN 6X15 VR-220 TORN 6X15 VR-220

31 5464 4 TORN POS.31 VR-220 SCREW POS.31 VR-220 SCREW P0S.31 VR-220 SCREW P0S.31 VR-220

32 55048 4 TUERCA DIN 985 M8 8.8 ZN AUTOBL. NUT DIN 985 M8 ZN AUTOBL. SELBSTSCHLIERENDE MUTTER DIN 985 M8 ZINK TUERCA DIN 985 M8 ZN AUTOBL.
33 45056 4 ARAND DIN 125 A8,4 ZN WASHER DIN 125 A8,4 ZN UNTERLEGSCHEIBE DIN 125 A8,5 ZN ARAND DIN 125 A8,4 ZN

34 55039 2 TORN DIN 912 M4X16 ZN SCREW DIN 912 M4X16 ZN TORN DIN 912 M4X16 ZN TORN DIN 912 M4X16 ZN

35 60435 8 TORN DIN 933 M8X20 ZN SCREW DIN 933 M8X20 ZN SCHRAUBE DIN 933 M8X20 ZINK TORN DIN 933 M8X20 ZN

36 45336 22 TORN DIN 7981 3,9X13 ZN SCREW DIN 7981 3,9X13 ZN SCHRAUBE DIN 7981 3,9X13 ZINC TORN DIN 7981 3,9X13 ZN

37 25177 4 ARAND DIN 125 A6,5 ZN WASHER DIN 125 M6 8.8 ZN UNTERLEGSCHEIBE DIN 125 A6,5 ZN ARAND DIN 125 A6,5 ZN

38 17416 2 TORN DIN 933 M6X45 ZN SCREW DIN 933 M6X45 ZN TORN DIN 933 M6X45 ZN TORN DIN 933 M6X45 ZN

39 40020 2 TUERCA DIN 985 M6 8.8 ZN AUTOBLOC NUT DIN 985 M6 ZN SELFLOCKER SELBSTSCHLIERENDE MUTTER DIN 985 M6 ZINK TUERCA DIN 985 M6 ZN AUTOBLOC

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso

We reserve the right to introduce any technical modification without previous notice

Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.
Il est réservé le droit & introduire une modification technique sans préavis.

Pagina 1 de 3



VIBRADOR DE RODILLOS

Ref.explod 91219 02-07 19/02/2016 Product. 60935, 60936, 60937

41 65529 6 TORN DIN 7982 ST4X20 POZIDRIV2 SCREW DIN 7982 ST4X20 POZIDRIV2 SCREW DIN 7982 ST4X20 POZIDRIV2 SCREW DIN 7982 ST4X20 POZIDRIV2
44 5477 1 PLETINA FIJ.EMPUNADURA VR-220 FLANGE FIJ.HANDLE VR-220 PLETINA FIJ.EMPUNADURA VR-220 PLETINA FIJ.EMPUNADURA VR-220
45 5478 1 HORQUILLA VR-220 FORK VR-220 HORQUILLA VR-220 HORQUILLA VR-220

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne

vorherige Ankiindigung an unseren Produkten vorzunehmen.
Il est réservé le droit & introduire une modification technique sans préavis.

We reserve the right to introduce any technical modification without previous notice Pagina 2 de 3



VIBRADOR DE RODILLOS

Ref.explod 91219 02-07 19/02/2016 Product. 60935, 60936, 60937

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

We reserve the right to introduce any technical modification without previous notice . . A . A . o
Il est réservé le droit & introduire une modification technique sans préavis.

Pagina 3 de 3



